10+3-22 |4+ 1,5+4| 121043 748 [4+(11-4)| 2+6+6 | 6+42 | 0TI | G6u54)4 )
9
-
Q»
|
52 50 @
4.8-2 - 5 25 | (6+9-2 50-4+3 | (3+8)*2 | 6°9+2 | 62-2+4 =
=
14
S +1 |2:(15+35)| (8-5)+2 | 5°-3+5 | 4+4+55| 3°-5 |5+2:25 62
’
3 4 24 24 . 120
11_?4_? (?)05 77-13 4+ 7,5 2+112 (7)03 43,5 3
88 10 24 42 »
8:3,5 | 202442 | 56-44 | ——+6' |(13-7)+6 52+ | 7.5+65 32+12 |62+8+0,5
32-2+4 |82-4+25 62 2OIOSE | 2012412 | 3+ (4+2) | 44245 | 242,58 102-6+7 | 4+(12-3)
1 kg =80 k 44 44 2 Juleaftens 1,5 kg =33 k
ookg=r | 2°(11+7)|11,25+6,75 |22+ 2415 | 3,07+6,93 1,0248,98 | 242 | 82085 | T o 20-2+6 10-0,5+4| Q"0




Skriv tal under bogstaverne, efterhanden som du fgler
dig sikker. Til sidst kan du sikkert knaekke koden.




